

BMJ Open Ultra-processed foods and recommended intake levels of nutrients linked to non-communicable diseases in Australia: evidence from a nationally representative cross-sectional study

Priscila P Machado,^{1,2} Euridice M Steele,² Renata B Levy,^{2,3} Zhixian Sui,⁴ Anna Rangan,⁵ Julie Woods,⁶ Tim Gill,⁷ Gyorgy Scrinis,⁸ Carlos A Monteiro^{2,9}

To cite: Machado PP, Steele EM, Levy RB, *et al.* Ultra-processed foods and recommended intake levels of nutrients linked to non-communicable diseases in Australia: evidence from a nationally representative cross-sectional study. *BMJ Open* 2019;**9**:e029544. doi:10.1136/bmjopen-2019-029544

► Prepublication history and additional material for this paper are available online. To view these files, please visit the journal online (<http://dx.doi.org/10.1136/bmjopen-2019-029544>).

Received 31 January 2019
Revised 27 May 2019
Accepted 10 July 2019



© Author(s) (or their employer(s)) 2019. Re-use permitted under CC BY-NC. No commercial re-use. See rights and permissions. Published by BMJ.

For numbered affiliations see end of article.

Correspondence to

Dr Carlos A Monteiro;
carlosam@usp.br

ABSTRACT

Objective This study aimed to describe the consumption of ultra-processed foods in Australia and its association with the intake of nutrients linked to non-communicable diseases (NCDs).

Design Cross-sectional study.

Setting National Nutrition and Physical Activity Survey (2011–2012).

Participants 12,153 participants aged 2+ years.

Main outcome measures Average dietary content of nutrients linked to NCDs and the prevalence of intake outside levels recommended for the prevention of NCDs.

Data analysis Food items were classified according to the NOVA system, a classification based on the nature, extent and purpose of industrial food processing. The contribution of each NOVA food group and their subgroups to total energy intake was calculated. Mean nutrient content of ultra-processed food and non-ultra-processed food fractions of the diet were compared. Across quintiles of the energy contribution of ultra-processed foods, differences in the intake of nutrients linked to NCDs as well as in the prevalence of intakes outside levels recommended for the prevention of NCDs were examined.

Results Ultra-processed foods had the highest dietary contribution (42.0% of energy intake), followed by unprocessed or minimally processed foods (35.4%), processed foods (15.8%) and processed culinary ingredients (6.8%). A positive and statistically significant linear trend was found between quintiles of ultra-processed food consumption and intake levels of free sugars (standardised β 0.43, $p < 0.001$); total (β 0.08, $p < 0.001$), saturated (β 0.18, $p < 0.001$) and trans fats (β 0.10, $p < 0.001$); sodium (β 0.21, $p < 0.001$) and diet energy density (β 0.41, $p < 0.001$), while an inverse relationship was observed for dietary fibre (β -0.21, $p < 0.001$) and potassium (β -0.27, $p < 0.001$). The prevalence of non-recommended intake levels of all studied nutrients increased linearly across quintiles of ultra-processed food intake, notably from 22% to 82% for free sugars, from 6% to 11% for trans fat and from 2% to 25% for dietary energy density, from the lowest to the highest ultra-processed food quintile.

Conclusion The high energy contribution of ultra-processed foods impacted negatively on the intake of

Strengths and limitations of this study

- Use of the most up-to-date, individual-level dietary survey data taken from a nationally representative sample of Australian children and adults, increasing generalisability.
- Use of the NOVA food classification system applied to disaggregated food codes, enabling to assess underestimated food groups and comparisons among different countries.
- The assessment of the contribution of foods according to the level of processing to daily intake of nutrients linked to non-communicable diseases provided novel evidence to improve the diet quality in Australia.
- Dietary data obtained by 24-hour recalls are subject to errors.
- Some items may have been misclassified due to inconsistencies of information indicative of food processing in the data sets.

non-ultra-processed foods and on all nutrients linked to NCDs in Australia. Decreasing the dietary share of ultra-processed foods would substantially improve the diet quality in the country and help the population achieve recommendations on critical nutrients linked to NCDs.

INTRODUCTION

Obesity and chronic non-communicable diseases (NCDs), such as cardiovascular diseases, type 2 diabetes and some cancers, are the main causes of premature death and disability in Australia and the world.^{1–3} Important risk factors driving most NCDs are dietary nutritional imbalances,⁴ which appear to be due to changes in global food systems.^{5–7} The increasing supply, distribution and consumption of cheap, palatable, accessible, convenient and highly marketed mass-produced products have led to the

displacement of dietary patterns based on fresh and minimally processed foods.^{8 9}

The NOVA system, a food classification based on the nature, extent and purpose of industrial food processing, has been applied worldwide to understand the impact of modern industrial food systems on human health.¹⁰ Considered the most specific, coherent and comprehensive food classification system based on food processing,¹¹ NOVA classifies foods into four groups: unprocessed and minimally processed foods, processed culinary ingredients, processed foods and ultra-processed foods.¹² Ultra-processed foods are formulations of low-cost ingredients, many of non-culinary use, that result from a sequence of industrial processes (hence ‘ultra-processed’). Examples of ultra-processed foods include soft drinks; sweet and savoury snacks such as fruit straps, potato crisps, confectionery; many breakfast cereals; microwaveable frozen meals; instant soups; fast food dishes and a myriad of new products launched in the market every year.^{9 12} High amounts of salt, added sugars, fat and/or additives make them extremely palatable and habit-forming.¹³ They dispense with the necessity of culinary preparation and are omnipresent, which make them convenient and accessible. The aggressive and sophisticated marketing of ultra-processed foods amplifies their ‘advantages’ (convenience, branding, pricing) over unprocessed or minimally processed foods.^{8 14}

In Australia, an increase in the consumption of high energy-dense, nutrient-poor foods has been observed over the years.^{15–17} Sales data provided by the market research firm Euromonitor show that in 2013 Australia had the sixth highest per capita sales among the evaluated ultra-processed foods behind the USA, Canada, Germany, Mexico and Belgium.¹⁴ Data from a nationally representative sample of the Australian households also showed that expenditure (as a percentage of the home food budget) on ultra-processed foods increased around 5% between 1989 and 2010.¹⁸

Despite the evidence that indicates that the degree of food processing effectively predicts the nutritional quality of diets and their impact on obesity and NCDs,^{10 14} the consumption of ultra-processed foods and their impact on the dietary nutrient profile have not been studied in Australia. This study aimed to characterise the overall and different patterns of ultra-processed food consumption in Australia, compare the nutrient profiles of ultra-processed and non-ultra-processed fractions of the diet and describe the association between ultra-processed food consumption and intake of nutrients linked to NCDs.

METHODS

Data source

The data source for this study was the National Nutrition and Physical Activity Survey (NNPAS) 2011–2012, part of the 2011–2013 Australian Health Survey. This nationally representative cross-sectional survey studied a randomly selected, national sample of the Australian population

using a complex, stratified, multistage probability cluster sampling design with selection of strata, households and people within households. The NNPAS was conducted between May 2011 and June 2012 on 9519 households where 12 153 Australians aged 2 years and above were interviewed.¹⁹

Data on food intake were collected as part of NNPAS based on two 24-hour dietary recalls administered by trained and experienced interviewers using the Automated Multiple-Pass Method. The first recall was applied through a face-to-face interview (n=12 153), while the second recall (n=7735) was applied via a telephone interview conducted 8 days or more after the first interview.¹⁹ For children under 15 years of age, parents/guardians were used as proxies, previously found to be valid instruments to assess energy intake among children aged 4 to 10 years.²⁰ Where permission was granted by a parent/guardian, adolescents aged 15–17 years were interviewed in person. If permission was not granted, questions were answered by an adult. Energy and nutrient intakes were estimated based on the Australian Food and Nutrient Database (AUSNUT 2011–2013), which contains information for 5740 foods and beverages consumed during the survey.²¹

Food classification

Reported single food items and the underlying ingredients of culinary preparations (handmade recipes) were classified according to NOVA food classification system into the following four groups (and subgroups within these groups): group 1—unprocessed or minimally processed foods (eg, rice and other cereals, meat, fish, milk, eggs, fruit, roots and tubers, vegetables, nuts and seeds); group 2—processed culinary ingredients (eg, sugar, plant oils and butter); group 3—processed foods (eg, processed breads and cheese, canned fruit and fish, and salted and smoked meats); group 4—ultra-processed foods (eg, confectioneries, savoury snacks, fast food dishes, mass-produced packaged breads, frozen and ready meals and soft drinks).^{10 12}

Ultra-processed foods, which are the focus of interest in this study, as previously mentioned, are formulations of low-cost ingredients, many of non-culinary use, that result from a sequence of industrial processes. Processes underlying the manufacture of ultra-processed foods start with the extraction of substances existing in intact foods, such as oils, fats, sugars, starches and protein. Intermediate processes may involve hydrolysis, hydrogenation and other chemical modifications of the extracted substances. Other steps include the assembling of modified (eg, hydrogenated oils) and unmodified (eg, sugar) substances using processes such as extrusion and pre-frying, the addition of additives and sophisticated packaging with the frequent employment of novel synthetic materials.^{10 12}

Food items were ultimately classified as ultra-processed if they contained ingredients found exclusively in these products. These ingredients are substances derived from foods but of non-culinary use (eg, protein

isolates, modified starches, hydrogenated or interesterified oils) and classes of additives with cosmetic functions (eg, colourants, flavourings, artificial sweeteners, emulsifiers, thickeners and bleaching, bulking, firming, gelling, glazing, foaming and carbonating agents). The presence or absence of these ingredients was identified from auxiliary AUSNUT data sources (Food details file and Food recipe file)²¹ and from list of ingredients obtained from food packages or from company websites (see online supplementary appendix 1 to 2). More information regarding how to identify ultra-processed foods can be found elsewhere.^{10 12}

For all food items judged to be a culinary preparation, the recipes were disaggregated using the AUSNUT 2011–2013 Food Recipe File,²¹ enabling the classification of composite foods into all NOVA food groups. A total of 2585 (45%) food codes were subject to disaggregation, and this process was continued until all ingredients were single food items.

To classify all food items, two experts with Australian food and dietary intake knowledge applied the NOVA system to the AUSNUT 2011–2013. All classifications were checked by another two independent food assessment experts, and where classification discrepancies arose, these were discussed until consensus was reached among all researchers. The NOVA system was applied to the AUSNUT classification system that considers a major (two-digit), submajor (three-digit) or minor (five-digit) food group. The survey ID (eight-digit) assigned to each food item was used when it was not possible to discriminate the degree of food processing within a minor group (table 1).

When the classification of a food item was not clear (eg, cake or cupcake, honey, commercial or homemade), the conservative alternative was chosen (homemade in this case, and thus disaggregated). Additional procedures were applied to classify breads with generic food item descriptions based on the sampling details information comprised in the AUSNUT 'Food details file'. Unlike other countries, many commercially produced breads in Australia are processed rather than ultra-processed, that is, their ingredients do not include neither food substances of no culinary use nor cosmetic additives. Of the 62 generic bread codes where the NOVA classification was not easily apparent, there were two generic bread codes that contributed the most to total bread energy intake (25% combined): (1) bread, from white flour,

commercial; (2) bread roll, from white flour, commercial. They were classified as ultra-processed foods since the samples that composed the AUSNUT 2011–2013 were mostly of mass-produced branded breads with cosmetic additives. All the remaining infrequent breads were classified as processed as the conservative hypothesis (see details in the online supplementary appendix 1 to 2).

Data analysis

The mean daily contribution of each NOVA food group and their subgroups to the total energy intake was calculated. Thereafter, the population was stratified into quintiles of the energy share of ultra-processed foods, with the lowest consumers belonging to the first quintile and the highest consumers to the fifth. The energy share of each NOVA food group and subgroup was estimated across those quintiles.

Considering the nutrients included in international guidelines (WHO and World Cancer Research Fund) for the prevention of NCDs among all age groups, we assessed the percentage of energy from free sugars and from fats (total, saturated and trans), the density of dietary fibre (g per 1000 kcal), sodium (mg per 1000 kcal) and potassium (mg per 1000 kcal) and the dietary energy density (calculated as kcal per g, excluding beverages).^{22–26} The mean nutrient intake levels were calculated for the overall diet and for two diet fractions, one made up entirely of the ultra-processed foods and the other made up of all the non-ultra-processed foods (ie, the sum of unprocessed or minimally processed foods, processed culinary ingredients and processed foods). Differences between the two diet fractions were analysed using tests of means for independent samples (t-test).

The mean nutrient intake levels for the overall diet were then compared across quintiles of the dietary energy provided by ultra-processed foods. Crude and adjusted standardised linear regression models were used to assess the direction and the statistical significance of the association of these quintiles with the nutrient intake levels. Standardised adjusted regression coefficients were obtained by regressing the nutrient intake levels on the quintiles of the dietary share of ultra-processed foods and expressed in SD units. For these analyses, the first 24-hour recall was used, which is suitable to estimate group means.^{27 28}

Finally, we estimated, for the overall population and for quintiles of the dietary share of ultra-processed foods, the prevalence of nutrient intake levels that were outside

Table 1 Example of the AUSNUT 2011–2013 food group classification and application of the NOVA system

Major food group: two-digit food code	Submajor food group: three-digit food code	Minor food group: five-digit food code	Survey ID: eight-digit food code	NOVA system classification
16 Fruit products and dishes	161 Pome fruit	16104 Pears, commercially sterile	16104009 Pears, canned in sugar syrup	Group 3 Processed foods
			16104010 Pears, canned in intense sweetened liquid	Group 4 Ultra-processed foods

the recommended levels for the prevention of NCDs: $\geq 10\%$ of total energy intake for free sugar, $\geq 30\%$ of total energy intake for total fat, $\geq 10\%$ of total energy intake for saturated fat, $\geq 1\%$ of total energy intake for trans fat, $\leq 12.5\text{ g}/1000\text{ kcal}$ for dietary fibre, $\geq 1000\text{ mg}/1000\text{ kcal}$ for sodium, $\leq 1755\text{ mg}/1000\text{ kcal}$ for potassium and $\geq 2.25\text{ kcal/g}$ for dietary energy density.^{22–26} For this analysis, intakes were adjusted by the Multiple Source Method²⁹ to account for intraperson variability by considering the data from the second 24-hour recall, which is the recommended approach to evaluate dietary adequacy.²⁷ Prevalence ratios from Poisson regression models were used to assess the magnitude of the associations between quintiles of energy contribution of ultra-processed foods and nutrient intakes. Wald and linear tests were used to assess the significance of variables in the models and to test trends across quintiles of ultra-processed food intake, respectively.

All regression models were adjusted for the following potential confounders: sex (male/female), age groups (2–5, 6–9, 10–18, 19–30, 31–50, 51–69 and ≥ 70 years), SocioEconomic Index of Disadvantage for Areas (SEIFA—quintiles), educational attainment of respondents, for participants ≥ 18 years old and of household reference persons otherwise (completed 9 years or below including never attended, completed 10–12 years with no graduate degree, completed 12 years with graduate degree) and geographical location (major cities of Australia, inner regional and other, which includes outer regional, remote and very remote Australia).

Sensitivity analyses were carried out to account for exposure misclassification of breads. The counterfactual scenario simulated the effect in the direction, magnitude and the statistical significance of the association between the dietary share of ultra-processed foods and dietary content of nutrients linked to NCDs if all breads were classified in the processed food group.

Weighted analyses were performed using Stata survey module (V.14) to consider the effect of complex sampling procedures adopted in the NNPAS 2011–2012 and in order to allow extrapolation of results for the Australian population (Stata Corp).¹⁹

Patient and public involvement

This research was done without patient involvement.

RESULTS

In 2011–2012, Australians aged 2 years and above consumed an average of 1968 kcal per day, 35.4% of which were from the NOVA group of unprocessed or minimally processed foods, 6.8% from processed culinary ingredients, 15.8% from processed foods and 42.0% from the ultra-processed food group (table 2).

Meat, milk, cereal grains and flours, and fruits accounted for most of the energy of unprocessed or minimally processed foods consumed in Australia. Within processed culinary ingredients, most of the energy came

Table 2 Mean absolute and relative daily energy intake according to NOVA food groups (Australian population aged 2+ years (NNPAS 2011–2012) (n=12 153))

NOVA food groups	Kcal	% of total energy intake
Unprocessed or minimally processed foods	675.4	35.4
Red meat and poultry	155.3	8.1
Milk and plain yoghurt	123.9	6.6
Cereal grains and flours	120.3	5.9
Fruits*	86.8	4.9
Vegetables	50.5	2.8
Pasta	45.4	2.3
Nuts and seeds	21.3	1.2
Potatoes and other tubers and roots	21.8	1.0
Eggs	19.2	1.0
Fish	15.2	0.8
Legumes	9.2	0.5
Other†	6.8	0.4
Processed culinary ingredients	133.8	6.8
Plant oils	59.2	3.0
Animal fats	37.6	1.8
Table sugar	30.8	1.6
Other‡	6.2	0.3
Processed foods	310.5	15.8
Processed breads	123.3	6.8
Beer and wine	80.1	3.6
Cheese	50.5	2.6
Bacon and other salted, smoked or canned meat or fish	22.6	1.2
Vegetables and other plant foods preserved in brine	8.6	0.5
Other§	25.5	1.2
Ultra-processed foods	842.4	42.0
Mass-produced packaged breads	89.3	4.8
Frozen and shelf stable ready meals¶	70.8	3.7
Fast foods dishes**	75.8	3.5
Pastries, buns and cakes	72.6	3.3
Breakfast cereals	62.0	3.2
Biscuits	59.0	3.1
Fruit drinks and iced teas	58.7	3.0
Confectionery	58.6	2.9
Sausage and other reconstituted meat products	49.0	2.4
Carbonated soft drinks	44.0	2.1
Milk-based drinks	42.8	2.1

Continued

Table 2 Continued

NOVA food groups	Kcal	% of total energy intake
Sauces, dressing and gravies	36.3	1.8
Salty snacks	34.1	1.6
Ice cream, ice pops and frozen yoghurts	34.2	1.6
Margarine and other spreads	26.9	1.4
Alcoholic distilled drinks	12.2	0.5
Other††	16.8	0.9
Total	1968.0	100.0

kcal = 4.18 kJ.

*Including freshly squeezed juices.

†Including meat from other animals, teas, coffees and dried spices.

‡Including honey, maple syrup (100%) and vinegar.

§Including salted or sugared nuts, seeds and dried fruits.

¶Including frozen lasagna, pizza and other pastas and meals, and instant soups and noodles.

**Including hamburger, pizza and French fries from fast food places.

††Including ultra-processed cheese, baby food and baby formula.
NNPAS, National Nutrition and Physical Activity Survey.

from plant oils. Processed breads, beer and wine were the highest contributors of energy among processed foods. Mass-produced packaged breads (4.8% of total daily intake), frozen and shelf stable ready meals (3.7%), fast food dishes (3.5%), and pastries, buns and cakes (3.3%) contributed most to dietary energy intake from ultra-processed foods (table 2).

The mean dietary share of ultra-processed foods ranged from 12.8% of total daily intake for those in the lowest quintile of ultra-processed food intake to 74.5% for those in the upper quintile of ultra-processed food intake (table 3). The energy share of all subgroups belonging to the ultra-processed food group increased linearly across quintiles of ultra-processed food intake, in particular fast food dishes and ready meals showed a substantial increase (114 times and 22 times, respectively). An opposite trend for subgroups from the three remaining groups indicates that ultra-processed foods tend to progressively displace all other foods and culinary preparations as ultra-processed food intake increases (table 3).

A comparison of the nutrient profiles between the ultra-processed and non-ultra-processed fractions of the Australian diet can be seen in table 4. The dietary fraction made up exclusively of ultra-processed items that contained significantly more free sugars (4.7 times), sodium (2.9 times), was higher in diet energy density (1.9 times) and was lower in potassium (1.7 times) and fibre content (1.4 times) than the non-ultra-processed fraction. The average content of fats in the diet fraction made of ultra-processed items was higher than in the dietary fraction made of non-ultra-processed items, except for trans

fat content, although the magnitude of the differences was small: 32.1% versus 30.4% for total fats, 12.7% versus 11.6% for saturated fats and 0.5% versus 0.6% for trans fats.

Table 5 presents the average nutrient content of the overall diet across quintiles of ultra-processed food intake. Both crude and adjusted regression coefficients show a positive and statistically significant linear trend between the dietary share of ultra-processed foods and the intake of free sugars; total, saturated and trans fats; sodium and the dietary energy density, while an inverse relationship was observed for the intake of dietary fibre and potassium. Stronger associations were found with free sugars ($\beta=0.43$, $p<0.001$), energy density ($\beta=0.41$, $p<0.001$), sodium ($\beta=0.21$, $p<0.001$), potassium ($\beta=-0.27$, $p<0.001$) and dietary fibre ($\beta=-0.21$, $p<0.001$). Stratified analyses showed that the association between the dietary share of ultra-processed foods and the intake of nutrients remained statistically significant among most age groups and both sex strata (data not shown).

Table 6 shows the prevalence of non-recommended nutrient intake levels across quintiles of the dietary energy share of ultra-processed foods. In the highest quintile of ultra-processed food consumption, about 80% of the Australian population exceeded the upper limits recommended for free sugars, saturated fats and sodium and over 85% did not meet the recommendation for dietary fibre and potassium. The prevalence of non-recommended intake levels of all nutrients increased linearly across quintiles of the dietary share of ultra-processed foods ($p<0.001$). Notably, from the lower to the upper quintile, the proportion of non-recommended intake levels increased from 22% to 82% for free sugars, from 6% to 11% for trans fat and from 2% to 25% for dietary energy density.

The direction, magnitude and the statistical significance of the associations between the dietary share of ultra-processed foods and the risk of non-recommended intake levels of all studied nutrients did not change with adjustment for age, sex, educational attainment, socioeconomic status and geographical location. We also categorised individuals with diet energy density higher than 1.25 kcal/g (World Cancer Research Fund recommends lowering this value as a public health goal),²⁶ and the proportion of non-recommended intake levels increased from 82% to 98% from the lower to the upper quintile (PR: 1.2; $p<0.001$ —data not shown).

Tables S1–S3 (available in the online supplementary appendix 3) show results from the sensitivity analyses that considered all breads in the processed food group (11.6% of total energy intake from processed breads). Results show that potential ultra-processed bread misclassification may have led to a 4.8% maximum overestimation of energy intake from ultra-processed foods and to slight underestimations of the strength of associations between ultra-processed foods and free sugars, fats and dietary fibre, and overestimation of the association with sodium, potassium and diet energy density.

Table 3 Percentage of total energy intake according to NOVA food groups across quintiles of the dietary share of ultra-processed foods (Australian population aged 2+years (NNPAS 2011–2012) (n = 12 153))

NOVA food groups	Quintiles of the dietary contribution of ultra-processed foods (% of total dietary energy)†				
	Q1	Q2	Q3	Q4	Q5
Unprocessed or minimally processed foods	54.8	43.3	36.0	27.6	15.3*
Red meat and poultry	12.2	10.0	8.3	6.4	3.4*
Milk and plain yoghurt	7.7	7.7	6.9	6.3	4.2*
Cereal grains and flours	12.0	7.3	5.4	3.6	1.2*
Fruits‡	7.1	5.8	5.2	4.1	2.4*
Vegetables	4.3	3.4	2.9	2.0	1.2*
Pasta	3.0	3.0	2.5	1.8	0.9*
Nuts and seeds	2.5	1.3	0.8	0.4	0.2*
Potatoes and other tubers and roots	1.5	1.5	1.3	1.1	0.6*
Eggs	1.4	1.2	1.0	0.9	0.5*
Fish	1.6	1.1	0.7	0.5	0.3*
Legumes	0.9	0.6	0.5	0.3	0.2*
Other§	0.7	0.5	0.4	0.3	0.2*
Processed culinary ingredients	9.7	8.4	7.1	5.4	3.1*
Plant oils	5.0	3.7	3.2	2.2	1.1*
Animal fats	2.3	2.3	1.9	1.6	0.8*
Table sugar	1.9	2.0	1.7	1.4	1.0*
Other¶	0.5	0.4	0.3	0.2	0.1*
Processed foods	22.7	19.8	16.5	12.9	7.1*
Processed breads	9.0	8.1	7.1	6.1	3.6*
Beer and wine	6.8	4.8	3.5	1.9	0.8*
Cheese	3.0	3.2	2.8	2.5	1.5*
Bacon and other salted, smoked or canned meat or fish	1.6	1.5	1.3	1.0	0.5*
Vegetables and other plant foods preserved in brine	0.7	0.4	0.5	0.5	0.2*
Others**	1.6	1.6	1.3	0.9	0.6*
Ultra-processed foods	12.8	28.4	40.4	54.1	74.5*
Mass-produced packaged breads	1.6	3.8	5.1	6.1	7.3*
Frozen and shelf stable ready meals††	0.4	1.4	2.7	5.1	8.7*
Fast foods dishes‡‡	0.1	0.6	1.3	4.0	11.4*
Pastries, buns and cakes	0.6	2.2	3.5	4.7	5.6*
Breakfast cereals	1.4	3.1	4.0	4.0	3.6*
Biscuits	1.1	2.3	3.2	4.0	4.7*
Fruit drinks and iced teas	1.1	2.3	3.1	3.9	4.8*
Confectionery	0.9	2.2	3.0	3.5	4.7*
Sausage and other reconstituted meat products	0.9	1.6	2.4	3.3	3.9*
Carbonated soft drinks	0.4	1.1	1.8	2.6	4.6*
Milk-based drinks	0.9	1.6	2.0	2.7	3.5*
Sauces, dressing and gravies	1.1	1.9	1.9	2.2	1.9*
Salty snacks	0.3	0.7	1.6	2.3	3.1*

Continued

Table 3 Continued

NOVA food groups	Quintiles of the dietary contribution of ultra-processed foods (% of total dietary energy)†				
	Q1	Q2	Q3	Q4	Q5
Ice cream, ice pops and frozen yoghurts	0.3	1.1	1.9	2.3	2.6*
Margarine and other spreads	0.9	1.4	1.5	1.7	1.5*
Alcoholic distilled drinks	0.1	0.3	0.3	0.6	1.2*
Other§§	0.5	0.8	1.1	0.8	1.3*
Total	100.0	100.0	100.0	100.0	100.0

*p<0.05 for linear trend across quintiles of dietary share of ultra-processed foods.

†Percentage of total energy intake from ultra-processed foods. Mean (range): Q1= 12.8 (0 to 21.8); Q2= 28.4 (21.8 to 34.6); Q3= 40.4 (34.6 to 46.6); Q4= 54.1 (46.6 to 62.1); Q5= 74.5 (62.1 to 100).

‡Including freshly squeezed juices.

§Including meat from other animals, teas, coffees and dried spices.

¶Including honey, maple syrup (100%) and vinegar.

**Including salted or sugared nuts, seeds and dried fruits.

††Including frozen lasagna, pizza and other pastas and meals, and instant soups and noodles.

‡‡Including hamburger, pizza and French fries from fast food places.

§§Including ultra-processed cheese, baby food and baby formula.

NNPAS, National Nutrition and Physical Activity Survey.

DISCUSSION

In this analysis of nationally representative data, we found that ultra-processed foods contribute to more than 40% of total daily energy intake of Australians. These foods are predominantly mass-produced packaged breads, ready meals, fast food dishes and pastries, buns and cakes. As ultra-processed food consumption increases, these foods tend to displace unprocessed and minimally processed foods and their culinary preparations, including the five core food groups recommended by the Australian Dietary Guidelines (ADGs).³⁰ The dietary content of free sugars; total, saturated and trans fats; sodium and the dietary energy density, all increased significantly as the energy

share of ultra-processed foods increased, while an inverse association was found for the dietary content of fibre and potassium. The prevalence of non-recommended intake levels of all studied nutrients linked to NCDs increased linearly across quintiles of ultra-processed food intake.

In other high-income countries, ultra-processed foods also dominate the diet: 57.9% of total energy intake in the USA,³¹ 56.7% in the UK³² and 47.7% in Canada.³³ In Latin American high-income and middle-income countries, such as Chile,³⁴ Brazil³⁵ and Mexico,³⁶ unprocessed and minimally processed foods are still the basis of the population's diet and ultra-processed foods made up between 20% and 30% of total energy intake. This is

Table 4 Average nutrient content of the overall diet and of two diet fractions (Australian population aged 2+years (NNPAS 2011–2012) (n=12 153))

Nutrients	Overall diet	Ultra-processed food diet fraction	Non-ultra-processed food diet fraction†
	Mean (SE)	Mean (SE)	Mean (SE)
Free sugars (% of total energy)	11.7 (0.1)	21.6 (0.2)	4.6* (0.1)
Total fats (% of total energy)	31.1 (0.1)	32.1 (0.2)	30.4* (0.1)
Saturated fat (% of total energy)	12.0 (0.1)	12.7 (0.1)	11.6* (0.1)
Trans fat (% of total energy)	0.6 (0.0)	0.5 (0.0)	0.6* (0.0)
Dietary fibre (g/1000 kcal)	11.5 (0.1)	9.7 (0.1)	13.2* (0.1)
Sodium (mg/1000 kcal)	1213 (6.4)	2475 (90.8)	859* (6.3)
Potassium (mg/1000 kcal)	1444 (6.)	1055 (8.6)	1813* (10.5)
Energy density (kcal/g)‡	1.7 (0.0)	2.7 (0.0)	1.4* (0.0)

*p<0.001 for significant mean differences between the two fractions of the diet.

†It includes NOVA unprocessed or minimally processed foods, processed culinary ingredients and processed foods.

‡Beverages excluded.

NNPAS, National Nutrition and Physical Activity Survey.

Table 5 Average nutrient content of the overall diet according to quintiles of the dietary share of ultra-processed foods (Australian population aged 2+ years (NNPAS 2011–2012) (n = 12 153))

Nutrients	Quintiles of the dietary contribution of ultra-processed foods (% of total dietary energy)†					Standardised regression coefficients‡	
	Q1	Q2	Q3	Q4	Q5	Crude	Adjusted§
Free sugars (% of total energy)	5.8	9.2	11.7	14.0	17.7	0.45*	0.43*
Total fats (% of total energy)	30.1	31.1	30.5	31.6	32.2	0.08*	0.08*
Saturated fat (% of total energy)	10.3	11.7	12.0	12.8	13.1	0.21*	0.18*
Trans fat (% of total energy)	0.52	0.58	0.59	0.63	0.64	0.11*	0.10*
Dietary fibre (g/1000 kcal)	13.3	12.3	11.8	10.7	9.4	−0.24*	−0.21*
Sodium (mg/1000 kcal)	1053	1142	1216	1275	1384	0.21*	0.21*
Potassium (mg/1000 kcal)	1674	1542	1465	1346	1177	−0.30*	−0.27*
Energy density (kcal/g)¶	1.5	1.6	1.7	1.8	2.1	0.43*	0.41*

*Statistically significant $p < 0.001$.

†Percentage of total energy intake from ultra-processed foods. Mean (range): Q1= 12.8 (0 to 21.8); Q2= 28.4 (21.8 to 34.6); Q3= 40.4 (34.6 to 46.6); Q4= 54.1 (46.6 to 62.1); Q5= 74.5 (62.1 to 100).

‡Obtained with linear regression of the dietary nutrient content on the quintiles of the dietary share of ultra-processed foods and expressed in SD units.

§Adjusted for age, sex, educational attainment, socio-economic status and geographical location.

¶Beverages excluded.

NNPAS, National Nutrition and Physical Activity Survey.

despite sales of ultra-processed foods in Latin American countries rising rapidly.¹⁴

The strong association between the energy share of ultra-processed foods and dietary nutrient profiles predictive of increased risk of diet-related NCDs is seen across several high-income and middle-income countries.^{31–34 37 38} In Australia, the prevalence ratios of non-recommended nutrient intake levels among people in the fifth quintile of ultra-processed food consumption were higher in comparison with the USA (2.9 times more likely to exceed added sugars intake than the first quintile)³¹ and the UK (1.1 times more likely to exceed free sugars and fibre intake).³² This is probably explained by differences in the dietary share of ultra-processed foods and also by the types of non-ultra-processed foods most consumed by first quintile ultra-processed food consumers in the countries (rather than by differences among higher consumers). While in Australia ultra-processed foods account for 13% of total energy intake in the lowest quintile of ultra-processed food consumption, in the USA and the UK this figure surpasses 30%.^{31 32} Australians with the lowest consumption of ultra-processed foods also consume more grains and vegetables than Americans and British.

To our knowledge, this is the first study to evaluate the association between the dietary contribution of ultra-processed foods and the overall NCD-related nutrient profile of diets in Australia and the first to analyse the 2011–2012 survey data with this focus. In Australia, one-third (35%) of total daily energy consumed is from discretionary foods—defined as foods that are unnecessary in a healthy diet and which are generally energy dense and nutrient poor.^{30 39} The ADGs emphasise the importance of limiting the consumption of discretionary foods.³⁰ Although most discretionary foods are likely to be classified as ultra-processed foods, a considerable number of foods from the Five Food Groups recommended by the ADGs are classified as ultra-processed foods, including many breads, breakfast cereals, flavoured yoghurts and margarines.

Australia is experiencing a high prevalence of NCDs—more than 90% of the deaths are due to chronic diseases, notably cardiovascular diseases and cancer,³ and Australia has the fifth highest rate of obesity in the OECD (28% of the population aged +15 years).⁴⁰ The evidence so far, from cross-sectional or cohort studies conducted in middle-income and high-income countries, has shown a direct association between ultra-processed food consumption and obesity,^{41–45} cancer,⁴⁶ hypertension,⁴⁷

Table 6 Prevalence (%) of non-recommended nutrient intake levels according to quintiles of the dietary share of ultra-processed foods (Australian population aged 2+years (NNPAS 2011–2012) (n=12 153))

Quintiles of the dietary contribution of ultra-processed foods (% of total dietary energy) [‡]	Non-recommended nutrient intake levels of:											
	Free sugars		Total fat		Saturated fat		Trans fat		Dietary fibre		Sodium	
	≥10% of energy		≥30% of energy		≥10% of energy		≥1% of energy		≤12.5 g/1000 kcal		≥1000 mg/1000 kcal	
	%	PR	%	PR	%	PR	%	PR	%	PR	%	PR
Q1 (lowest)	21.7	1.0	53.4	1.0	57.5	1.0	5.6	1.0	55.0	1.0	66.6	1.0
Q2	47.3	2.1	53.0	1.0	67.5	1.2	4.5	1.0	65.0	1.2	75.5	1.1
Q3	58.5	2.6	60.0	1.1	77.8	1.3	7.0	1.2	70.4	1.3	79.4	1.2
Q4	69.8	3.1	64.0	1.2	81.7	1.4	7.6	1.4	75.1	1.3	83.1	1.2
Q5 (highest)	82.1	3.6*†	69.7	1.3*†	84.3	1.4*†	10.9	1.9*†	85.6	1.5*†	84.7	1.3*†
Total	55.9	–	60.0	–	73.8	–	7.2	–	70.2	–	77.9	–

*Significant linear trend across quintiles (p<0.001) in both unadjusted (coefficients not shown) and adjusted models.

†Wald test at 5% significance level.

‡Percentage of total energy intake from ultra-processed foods. Mean (range): Q1= 12.8 (0 to 21.8); Q2= 28.4 (21.8 to 34.6); Q3= 40.4 (34.6 to 46.6); Q4= 54.1 (46.6 to 62.1); Q5= 74.5 (62.1 to 100).

NNPAS, National Nutrition and Physical Activity Survey; PR, prevalence ratios adjusted for age, sex, educational attainment, socioeconomic status and geographical location.

dyslipidaemias,⁴⁸ metabolic syndrome^{49 50} and myocardial infarction and stroke.⁵¹

Considering the mounting body of research linking inadequate intake of critical nutrients and risk of chronic diseases,^{7 26} and the persistent increase in the purchase of ultra-processed foods by the Australian population,¹⁸ our findings have implications for policy and practice. We showed that Australians who based their diet on unprocessed and minimally processed foods, and on culinary preparations made up with these foods, are more likely to achieve the nutrient intake levels internationally recommended for the prevention of NCDs. Therefore, there is a need for initiatives that combine the promotion of healthy foods with the reduction of ultra-processed food consumption.^{5 7 52 53}

The presence of misleading nutrition and health claims on ultra-processed food labels in Australia,^{54 55} the limitations of the Australian Health Star Rating System to support healthy choices in agreement with the ADGs⁵⁶ and the limits of the ultra-processed food reformulation to address unhealthy diets⁵⁷ reinforce the need for targeted strategies to reduce the consumption of ultra-processed foods.⁵² Australia could adopt some of the lessons from its successful antismoking intervention⁵⁸ to the consumption of ultra-processed foods to help tackle the epidemic of chronic disease. This could entail restricting the sale of ultra-processed foods in schools, healthcare and other settings, considering taxation and pricing interventions, limiting promotion and advertising, particularly to children, improving food labelling and improving the retail environment.^{24 52 59–61}

The main strength of our study is the use of the most up-to-date, individual-level dietary survey data taken from a nationally representative sample of Australian children and adults, which increases the generalisability of our findings. The food classification system we used (NOVA) has been recognised as a relevant approach for linking dietary intakes and incidence of obesity and NCDs.^{10 14} In addition, we applied the classification to several disaggregated food codes in the AUSNUT 2011–2013, enabling the assessment of food groups whose consumption has previously been underestimated,⁶² and comparisons with studies in different countries that applied the NOVA system.^{31 32 34 37} It is also important to highlight that the AUSNUT 2011–2013 food composition database was specifically developed to reflect the food supply and food preparation practices during the period of the NNPAS 2011–2012.²¹

Nevertheless, potential limitations should be considered. Although we used the most recent, individual-level national survey to analyse Australian dietary intake, these data may not account for recent changes in the food supply or dietary habits in the country. Though household expenditure in ultra-processed foods increased from 2010 to 2016 in Australia,⁶³ as well as the supply of those foods,⁹ no substantial changes in their nutrient profile could be identified.^{54 64} Therefore, the observed associations in our study will unlikely have changed in more

recent years. Dietary data obtained by 24-hour recalls are subject to errors given the tendency for people to misreport their food intake. Analysis of the NNPAS 2011–2012 suggests sizeable misreporting,¹⁹ but the impact in the assessment of ultra-processed food consumption is unknown. Some studies suggest that unhealthy foods are more likely to be under-reported,⁶⁵ which could have led to an underestimation of overall dietary contribution of ultra-processed foods or the prevalence of inadequate nutrient intake or may attenuate the magnitude of the association between both variables (should differential information bias exist).

Another potential limitation is that both the 24-hour recall instrument and the food composition tables were not designed to evaluate the food consumption according to industrial processing. Therefore, despite the effort and systematic approach to apply the NOVA system properly into the AUSNUT 2011–2013 data set, some items may have been misclassified. However, to reduce misclassification, several independent researchers reviewed the classification and any areas of misclassification were resolved by discussion and consensus. Additionally, in the case of breads, we carried out sensitivity analyses given their high contribution to the total energy intake in Australia, especially those types of breads with generic food descriptions in the AUSNUT data set. Including information to characterise the processing of foods in dietary surveys, like brand and product name, preferably linked to a list of ingredients provided by a food supply survey or by the food industry, would help to assess dietary intake considering food processing.⁶⁶

CONCLUSION

In conclusion, ultra-processed foods accounted for more than 40% of energy consumed in Australia and they tend to displace all other foods and culinary preparations. The dietary share of ultra-processed foods impacted negatively on the intake of all nutrients linked to NCDs, being therefore a key metric to evaluate dietary patterns. The high dietary energy share of ultra-processed foods in Australia calls for actions targeting those products in order to increase the healthiness of food environments and reduce obesity and diet-related NCDs. Decreasing the dietary share of ultra-processed foods would substantially improve the diet quality in Australia and help the population achieve recommendations on critical nutrients linked to NCDs and foods recommended by the ADGs.

Author affiliations

¹Graduate Program in Nutrition in Public Health, School of Public Health, University of Sao Paulo, Sao Paulo, Brazil

²Center for Epidemiological Research in Nutrition and Health, University of Sao Paulo, Sao Paulo, Brazil

³Department of Preventive Medicine, School of Medicine, University of Sao Paulo, Sao Paulo, Brazil

⁴School of Public Health and Community Medicine, University of New South Wales, Sydney, New South Wales, Australia

⁵School of Life and Environmental Sciences, Charles Perkins Centre, The University of Sydney, Sydney, New South Wales, Australia

⁶Institute for Physical Activity and Nutrition, School of Exercise and Nutrition Sciences, Deakin University, Geelong, Victoria, Australia

⁷Boden Institute of Obesity, Nutrition, Exercise and Eating Disorders, Charles Perkins Centre, The University of Sydney, Sydney, New South Wales, Australia

⁸School of Agriculture and Food, The University of Melbourne, Melbourne, Victoria, Australia

⁹Department of Nutrition, School of Public Health, University of Sao Paulo, Sao Paulo, Brazil

Contributors CAM, EMS, PPM and RBL designed the research; EMS, JW, PPM and ZS took care of data management and analyses; AR, CAM, EMS, GS, JW, PPM, RBL, TG and ZS interpreted the data; PPM wrote the first draft of the manuscript; AR, CAM, EMS, GS, JW, PPM, RBL, TG and ZS revised each draft for important intellectual content. All authors read and approved the final manuscript.

Funding This work was supported by the Sao Paulo Research Foundation (FAPESP), grant #2015/14900-9 and grant #2016/13168-5 (PPM is a beneficiary of a doctoral scholarship). PPM received a doctoral scholarship from the Coordination for the Improvement of Higher Education Personnel (CAPES) from October 2016 to February 2017. FAPESP and CAPES had no role in the design, analysis or writing of this manuscript.

Competing interests None declared.

Patient consent for publication Not required.

Ethics approval This study was a secondary analysis using deidentified data from the ABS Basic Confidentialised Unit Record Files, and permission to use the data was obtained. Ethics approval for the survey was granted by the Australian Government Department of Health and Ageing Departmental Ethics Committee in 2011.

Provenance and peer review Not commissioned; externally peer reviewed.

Data availability statement No data are available.

Open access This is an open access article distributed in accordance with the Creative Commons Attribution Non Commercial (CC BY-NC 4.0) license, which permits others to distribute, remix, adapt, build upon this work non-commercially, and license their derivative works on different terms, provided the original work is properly cited, appropriate credit is given, any changes made indicated, and the use is non-commercial. See: <http://creativecommons.org/licenses/by-nc/4.0/>.

REFERENCES

1. Lim SS, Vos T, Flaxman AD, *et al.* A comparative risk assessment of burden of disease and injury attributable to 67 risk factors and risk factor clusters in 21 regions, 1990–2010: a systematic analysis for the global burden of disease study 2010. *The Lancet* 2012;380:2224–60.
2. Ng M, Fleming T, Robinson M, *et al.* Global, regional, and national prevalence of overweight and obesity in children and adults during 1980–2013: a systematic analysis for the global burden of disease study 2013. *Lancet* 2014;384:766–81.
3. Australian Institute of Health and Welfare. Australia's health 2016. Australia's health series no. 15, 2016. Available: <https://www.aihw.gov.au/reports/australias-health/australias-health-2016/contents/summary>
4. GBD 2015 Risk Factors Collaborators. Global, regional, and national comparative risk assessment of 79 behavioural, environmental and occupational, and metabolic risks or clusters of risks, 1990–2015: a systematic analysis for the global burden of disease study 2015. *Lancet* 2016;388:1659–724.
5. Swinburn BA, Sacks G, Hall KD, *et al.* The global obesity pandemic: shaped by global drivers and local environments. *Lancet* 2011;378:804–14.
6. Malik VS, Willett WC, Hu FB. Global obesity: trends, risk factors and policy implications. *Nat Rev Endocrinol* 2013;9:13–27.
7. World Health Organization. *Global action plan for the prevention and control of noncommunicable diseases 2013–2020*. Geneva: World Health Organization, 2013.
8. Monteiro CA, Moubarac J-C, Cannon G, *et al.* Ultra-processed products are becoming dominant in the global food system. *Obes Rev* 2013;14(Suppl. 2):21–8.
9. Spiteri SA, Olstad DL, Woods JL. Nutritional quality of new food products released into the Australian retail food market in 2015 – is the food industry part of the solution? *BMC Public Health* 2018;18:222.

10. Monteiro CA, Cannon G, Moubarac J-C, *et al.* The un decade of nutrition, the nova food classification and the trouble with ultra-processing. *Public Health Nutr* 2018;21:5–17.
11. Moubarac J-C, Parra DC, Cannon G, *et al.* Food classification systems based on food processing: significance and implications for policies and actions: a systematic literature review and assessment. *Curr Obes Rep* 2014;3:256–72.
12. Monteiro CA, Cannon G, Levy RB, *et al.* Ultra-processed foods: what they are and how to identify them. *Public Health Nutr* 2019;22:936–41.
13. Gordon E, Ariel-Donges A, Bauman V, *et al.* What Is the Evidence for “Food Addiction?” A Systematic Review. *Nutrients* 2018;10:477.
14. Pan American Health Organization. *Ultra-processed products in Latin America : trends, impact on obesity, policy implications*. Washington, DC: Pan American Health Organization / World Health Organization, 2015.
15. Clifton PM, Chan L, Moss CL, *et al.* Beverage intake and obesity in Australian children. *Nutr Metab* 2011;8.
16. Crino M, Sacks G, Vandevijvere S, *et al.* The influence on population weight gain and obesity of the macronutrient composition and energy density of the food supply. *Curr Obes Rep* 2015;4:1–10.
17. Grech AL, Rangan A, Allman-Farinelli M. Dietary energy density in the Australian adult population from national nutrition surveys 1995 to 2012. *J Acad Nutr Diet* 2017;117:1887–99.
18. Venn D, Banwell C, Dixon J. Australia's evolving food practices: a risky mix of continuity and change. *Public Health Nutr* 2017;20:2549–58.
19. Australian Bureau of Statistics. Australian Health Survey: Users' Guide, 2011–13, 2013. Available: <http://www.abs.gov.au/ausstats/abs@.nsf/Lookup/4363.0.55.001Chapter2002011-13>
20. Børnhorst C, Bel-Serrat S, Pigeot I, *et al.* Validity of 24-h recalls in (pre-)school aged children: comparison of proxy-reported energy intakes with measured energy expenditure. *Clin Nutr* 2014;33:79–84.
21. Food Standards Australia New Zealand. AUSNUT 2011–2013 - Food Composition Database, 2014. Available: <http://www.foodstandards.gov.au/science/monitoringnutrients/ausnut/pages/default.aspx>
22. World Health Organization. *Diet, nutrition and the prevention of chronic diseases: report of a joint WHO/FAO expert consultation*. Geneva: World Health Organization, 2003.
23. World Health Organization. *WHO Issues New Guidance on Dietary Salt and Potassium*. Geneva: World Health Organization, 2013.
24. World Health Organization. *Healthy Diet. Fact sheet N°394*. Geneva: World Health Organization, 2018.
25. World Health Organization. *Sugars intake for adults and children*. Geneva, 2015.
26. World Cancer Research Fund. *Food, nutrition, physical activity, and the prevention of cancer: a global perspective*. Washington: DC: American Institute for Cancer Research, 2007.
27. Dodd KW, Guenther PM, Freedman LS, *et al.* Statistical methods for estimating usual intake of nutrients and foods: a review of the theory. *J Am Diet Assoc* 2006;106:1640–50.
28. Freedman LS, Guenther PM, Dodd KW, *et al.* The population distribution of ratios of usual intakes of dietary components that are consumed every day can be estimated from repeated 24-hour recalls. *J Nutr* 2010;140:111–6.
29. Harttig U, Haubrock J, Knüppel S, *et al.* The MSM program: web-based statistics package for estimating usual dietary intake using the multiple source method. *Eur J Clin Nutr* 2011;65:S87–91.
30. National Health and Medical Research Council. *Australian dietary guidelines*. Canberra, Australia: National Health and Medical Research Council, 2013.
31. Martínez Steele E, Baraldi LG, Louzada ML, *et al.* Ultra-processed foods and added sugars in the US diet: evidence from a nationally representative cross-sectional study. *BMJ Open* 2016;6:e009892.
32. Rauber F, da Costa Louzada ML, Steele E, *et al.* Ultra-Processed food consumption and chronic non-communicable Diseases-Related dietary nutrient profile in the UK (2008–2014). *Nutrients* 2018;10:587.
33. Moubarac J-C, Batal M, Louzada ML, *et al.* Consumption of ultra-processed foods predicts diet quality in Canada. *Appetite* 2017;108:512–20.
34. Cediél G, Reyes M, da Costa Louzada ML, *et al.* Ultra-processed foods and added sugars in the Chilean diet (2010). *Public Health Nutr* 2018;21:125–33.
35. Costa Louzada MLda, Martins APB, Canella DS, *et al.* Ultra-processed foods and the nutritional dietary profile in Brazil. *Rev Saude Publica* 2015;49:38.
36. Marrón-Ponce JA, Sánchez-Pimienta TG, Louzada MLdaC, *et al.* Energy contribution of nova food groups and sociodemographic determinants of ultra-processed food consumption in the Mexican population. *Public Health Nutr* 2018;21:87–93.
37. Louzada MLdaC, Ricardo CZ, Steele EM, *et al.* The share of ultra-processed foods determines the overall nutritional quality of diets in Brazil. *Public Health Nutr* 2018;21:94–102.
38. Martínez Steele E, Popkin BM, Swinburn B, *et al.* The share of ultra-processed foods and the overall nutritional quality of diets in the US: evidence from a nationally representative cross-sectional study. *Popul Health Metr* 2017;15:6.
39. Australian Bureau of Statistics. Australian Health Survey: Nutrition First Results – Foods and Nutrients, 2011–12 - Australia, 2014. Available: <http://www.abs.gov.au/ausstats/abs@.nsf/Lookup/4364.0.55.007main+features12011-12>
40. Organisation for Economic Co-operation and Development. Obesity Update 2017, 2017. Available: www.oecd.org/health/obesity-update.htm
41. Juul F, Martinez-Steele E, Parekh N, *et al.* Ultra-processed food consumption and excess weight among US adults. *Br J Nutr* 2018;120:90–100.
42. Louzada ML, Baraldi LG, Steele EM, *et al.* Consumption of ultra-processed foods and obesity in Brazilian adolescents and adults. *Prev Med* 2015;81:9–15.
43. Mendonça RdeD, Pimenta AM, Gea A, *et al.* Ultraprocessed food consumption and risk of overweight and obesity: the University of Navarra follow-up (sun) cohort study. *Am J Clin Nutr* 2016;104:1433–40.
44. Monteiro CA, Moubarac J-C, Levy RB, *et al.* Household availability of ultra-processed foods and obesity in nineteen European countries. *Public Health Nutr* 2018;21:18–26.
45. Nardocci M, Leclerc B-S, Louzada M-L, *et al.* Consumption of ultra-processed foods and obesity in Canada. *Can J Public Health* 2019;110.
46. Fiolet T, Srour B, Sellem L, *et al.* Consumption of ultra-processed foods and cancer risk: results from NutriNet-Santé prospective cohort. *BMJ* 2018;360.
47. Mendonça RD, Lopes AC, Pimenta AM, *et al.* Ultra-Processed food consumption and the incidence of hypertension in a Mediterranean cohort: the Seguimiento Universidad de Navarra project. *Am J Hypertens* 2017;30:358–66.
48. Rauber F, Campagnolo PDB, Hoffman DJ, *et al.* Consumption of ultra-processed food products and its effects on children's lipid profiles: a longitudinal study. *Nutrition, Metabolism and Cardiovascular Diseases* 2015;25:116–22.
49. Lavigne-Robichaud M, Moubarac J-C, Lantagne-Lopez S, *et al.* Diet quality indices in relation to metabolic syndrome in an Indigenous Cree (Eeyouch) population in northern Québec, Canada. *Public Health Nutr* 2018;21:172–80.
50. Tavares LF, Fonseca SC, Garcia Rosa ML, *et al.* Relationship between ultra-processed foods and metabolic syndrome in adolescents from a Brazilian family doctor program. *Public Health Nutr* 2012;15:82–7.
51. Srour B, Fezeu LK, Kesse-Guyot E, *et al.* Ultra-processed food intake and risk of cardiovascular disease: prospective cohort study (NutriNet-Santé). *BMJ* 2019;365:11451.
52. Hawkes C, Smith TG, Jewell J, *et al.* Smart food policies for obesity prevention. *Lancet* 2015;385:2410–21.
53. Stuckler D, Nestle M. Big food, food systems, and global health. *PLoS Med* 2012;9:e1001242.
54. Ni Mhurchu C, Brown R, Jiang Y, *et al.* Nutrient profile of 23 596 packaged supermarket foods and non-alcoholic beverages in Australia and New Zealand. *Public Health Nutr* 2016;19:401–8.
55. Pulker CE, Scott JA, Pollard CM. Ultra-processed family foods in Australia: nutrition claims, health claims and marketing techniques. *Public Health Nutr* 2018;21:38–48.
56. Julie Woods. Do nutrient-based Front-of-Pack labelling schemes support or undermine food-based dietary guideline recommendations? lessons from the Australian health StAR rating system. *Nutrients* 2018;10:32.
57. Scrinis G, Monteiro CA. Ultra-processed foods and the limits of product reformulation. *Public Health Nutr* 2018;21:247–52.
58. Wakefield MA, Coomber K, Durkin SJ, *et al.* Time series analysis of the impact of tobacco control policies on smoking prevalence among Australian adults, 2001–2011. *Bull World Health Organ* 2014;92:413–22.
59. Corvalán C, Reyes M, Garmendia ML, *et al.* Structural responses to the obesity and non-communicable diseases epidemic: the Chilean law of food labeling and advertising. *Obes Rev* 2013;14(Suppl. 2):79–87.
60. Hawkes C, Jewell J, Allen K. A food policy package for healthy diets and the prevention of obesity and diet-related non-communicable diseases: the NOURISHING framework. *Obes Rev* 2013;14(Suppl 2):159–68.

61. Batis C, Rivera JA, Popkin BM, *et al.* First-Year Evaluation of Mexico's Tax on Nonessential Energy-Dense Foods: An Observational Study. *PLoS Med* 2016;13:e1002057.
62. Sui Z, Raubenheimer D, Rangan A. Consumption patterns of meat, poultry, and fish after disaggregation of mixed dishes: secondary analysis of the Australian National nutrition and physical activity survey 2011–12. *BMC Nutr* 2017;3.
63. Lindsay H. *Food demand in Australia: Trends and issues 2018*, ABARES Research Report 18, Canberra, August. CC BY 4.0, 2018. Available: <https://apo.org.au/sites/default/files/resource-files/2018/08/apo-nid188236-1196716.pdf>
64. Jones A, Magnusson R, Swinburn B, *et al.* Designing a healthy food partnership: lessons from the Australian food and health dialogue. *BMC Public Health* 2016;16:651.
65. Lafay L, Mennen L, Basdevant A, *et al.* Does energy intake underreporting involve all kinds of food or only specific food items? results from the Fleurbaix Laventie Ville Santé (FLVS) study. *Int J Obes* 2000;24:1500–6.
66. Food and Agriculture Organization of the United Nations. *Guidelines on the collection of information on food processing through food consumption surveys*, 2015.